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BACHELOR OF SCIENCE (B.Sc.) 

Term-End Examination 

December, 2014 

LIFE SCIENCE 

LSE-10 : ANIMAL DIVERSITY-II 

Time : 3 hours 	 Maximum Marks : 75 

Note : Question no. 1 is compulsory. Attempt any six 
questions from questions no. 2 to 8. Draw diagrams 

wherever necessary. 

1. (a) Define the following terms : 
	

3 

(i) Cleidoic eggs 

(ii) Bioluminescence 

(iii) Angiogenesis 

(b) Differentiate between the following : 	8 

(i) Cycloid scale and Ctenoid scale 

(ii) Ratite and Carinate 

(iii) Batesian mimicry and Mullerian 
mimicry 

(iv) Syrinx and Larynx 
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(c) Give the location and function of the 
following : 
	 4 

(i) Tricuspid valve 

(ii) Canon-bone 

(iii) Urophysis 

(iv) Juxtaglomerular apparatus 

2. (a) What are the main differences between the 
chordates and non-chordates ? 	 5 

(b) Draw a well labelled diagram of the 
structure of Human Eye/Human Ear. 	5 

3. Explain the evolution of aortic arches in 
chordates with suitable diagrams. 	 10 

4. (a) What are the functions of urinary system in 
vertebrates ? 	 5 

(b) Write a note on ruminant stomach of sheep. 	5 

5. (a) Describe the accessory respiratory organs 
found in fishes. 	 5 

(b) Write the salient features of Class 
Amphibia. 	 5 

6. (a) Explain briefly the modifications of the 
lungs and the respiratory passages of the 
birds. 	 6 

(b) Describe the various types of mammalian 
uterus. 	 4 
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7. (a) Define suspensorium. Explain the different 
types of law suspensorium' found in 
vertebrates. 	 6 

(b) Write a note on dentation in mammals. 	4 

8. (a) Write a brief account of echo-location in 

bats. 	 5 

(b) Describe scansorial adaptations 
vertebrates. 	 5 
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